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(FR%)
& 1 48, 093 48, 093
G TR E RS L
(STEP1)
= 1 267, 652
AR A S EE M V=71 (SYV) 2. Omm2 12
L
(EW)
m 66 665. 5 43,923
AR A S EE M V=71 (SYV) 2. Omm2 19
L
(BEW)
m 109 1,210 131, 890
AR A S AR © ohig e =y =a=7" v CV
5.5mm2 3.L»
(BEW)
m 138 665. 5 91, 839
AEEIE B R R L
(STEP2)
= 1 791, 758
R KT R AR T
= 1 306, 862 306, 862
HATH ST #aak B
B 1 89, 214 89, 214
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YN/

it

£

THX Sy - THE - RSB - HBl MoK PO B B G AT il i E (A5
it 48 B 1 2T#AK
& 1 57, 096 57, 096
LRz iR fE5 M V=77 1 (SVV) 2. Omm2 12
L
35| 2 55, 674 111, 348
BRZEFR R SHEARE 2V AR (DV) 3. 2mm - 2
L
35| 2 16, 279 32, 558
Bl SR 4 BLAsE 1751f)
B3Il 2 17, 897 35, 794
Fic SR 4 4 HLAsE 24518
B3Il 1 20, 879 20, 879
EAECHR fE5 M V=77 1 (SVV) 2. Omm2 12
L
(€20
m 7 2,065 14, 455
JEHMEOAR AL =itk =277 CV
3.5mm2 3.0
(€20
m 6 1,545 9,270
F=7" VR AR AL fE5 M V=77 1 (SVV) 2. Omm2 12
L
&0 3 33, 255 99, 765
=77 WA AL HIBE AL =piasgt” =vy—2r—=7" v CV
3.5mm2 3.0
&0 3 4, 839 14, 517
RIMIE T E M A
(STEP2)
= 1 176, 537
Ll AT S 2
=) 1 42, 592 42, 592
HATH ST i =2
=) 1 15, 004 15, 004
AR 1 2T#AK
& 1 21, 497 21, 497
Rl L e SVV2. Omm2— SS—12C
| 2 21,614 43, 228
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N 2

it

£

THEX Sy« TH - FERI - HH50 MoK PO B B G AT G| i E (A5
BRZEFR I AR Vit E#R (DY) 3. 2mm
2.0
35| 2 5, 443 10, 886
Bo i
B3Il 3 4, 356 13, 068
JB A C £ 3lmm
(37 kv fdE)
B3Il 2 5, 642 11,284
BA s iR
(F5 M. W)
B3Il 2 9,489 18,978
ARG F R R E L
(STEP3)
= 1 426, 020
AT LT EaaR
= 1 21, 055 21, 055
EAECHR A A L =iz =vy=a0=7" WCVV
5.5mm2 3.0»
(€20
m 226 1,642 371, 092
F=7" Vi A AL B I ViR =vy=ar=7" v CV
5.5mm2 3.0»
&0 7 4,839 33,873
RIMIE T E M A
(STEP3)
= 1 115, 682
BT T E iR
= 1 15, 004 15, 004
Rl S e AR =Mt E#R (DY) 3. 2mm
2.0
1| 6 5, 443 32, 658
JB A C £ 3lmm
(37 kv i)
B3Il 3 5, 642 16, 926
BA iR (%M - W)
B3Il 3 9,489 28, 467
EAECRR R HIBE AL =piasgt” =vy—2r—=7" v CV
3.5mm2 3 L[>
m 34 665.5 22, 627
- 17 - ELARims  Abkizhh )y 80w &




HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
B T HE
= 1 108, 779, 968
B ST
= 1 15, 958, 466
BT e ¢
= 1 4,147, 830
TR
= 1 262, 646
R A Y
= 1 133, 180
IR T
Ry 0 0
[T uptiizs 24. 4t
= 1 129, 466
el 2y
= 1 738, 547
Bl
= 1 738, 547
Htre m
= 1 2, 140, 434
B M R FEART IR
= 1 49, 552
TWE RS A
= 1 2,081, 106
B
FRE 1 9,776 9,776
BUGERRYGEE (K5 1)
= 1 1, 006, 203
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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
HiE R (FE L)
= 1 11, 810, 636
Wi
= 1 124, 738, 434
BTk X=giiv
= 1 49, 004, 871
R 5]
= 1 173, 743, 305
— R
= 1 27, 625, 860
¥V ek GRED
= 1 11, 650, 781
¥V ek GRED HERRAE R
= 1 5, 080, 054
T HAlik
= 1 218, 100, 000
THE B 2 %8
= 1 21, 810, 000
TG
= 1 239, 910, 000
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